Honors Math 3

Dividing Polynomials

Use synthetic division.

1. (222 + 3z —35) + (z+5) 2. (32 —dz—4)+ (z+2)

3. (23 —2? 17z +12) + (4 +2) 4. (3z® —222 +1) = (z—2)

5. (23 =522 +4x+7)+ (z—1) 6. (22° —53z+6)+ (z—5)

7. (23 +222 +32) = (z+4) 8. (3z% —8x% - 522 +Tx —1) = (v —3)
9. (4y* —5y® —8y+3) =+ (2y —3) 10. (22% =32 —z+2) + (22 + 1)

Find the remainder when the polynomial is divided by the binomial (use the remainder theorem).

11. 22—-1; z—2 12 2 —x+4; -2

13. 22—z+6; z+3 14. 22 +10x+24; =+6

15. 3224+2x—9; z—1 16. 522 —6x+2; = —2

17. —ba? —1lz+3; 1—=z 18. 222 —z+1; z—3

19. 32> —8x+4; z—3 20. 23 4+922—5; z+1

21. 234222 —52—6; z+2 22, —4x3 4+ 1122 -9z +8; 1—=z
23. 323 — 2% + 1 az—% 24. zt—x3+x; x+2

25. zt =523 4202 —Tx+2; z—2 26. 4ot + 723 —222+2—-9; z+3

271 2t -3 +3; 23 28. 3at+4+62—Br+1; z+3
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